TIME AND WORK (&% 3 %rf)

TYPE

A and B can complete a work in 30 days and 20 day
respectively. In how many days they will together

complete the work?

A T B et 1 7 e § wHer: 30 @t 20 foF § @ A7
T & | qT A1 UF FT 39 F A7 A A 7 @ w2
(A) 10 days/fas (B) 12 days/fa@  (C) 14 days/fa=
(D) 16 days/fa=

A, B and C can complete a work in 12 days, 15 days
and 20 days respectively. In how much time they will

together complete the whole work?

AB T C UF w19 &7 12,15 7 20 oA & Q21 #7197 # gy g Al
et g1 F7w forae qwa § #33r?
(A) 12 days/fzm (B) 5 days/fw
(D) 7 days/fe=

(C) 10 days/fa=

A,B and C can complete a work in 12 days, 15days and
20 days respectively. In how much time A and B will
together complete the whole work?

AB T C UF FH &1 12,15, 20 faF & 927 77 2 #ahd & ar
A =7 B fAetse =1 w1 e aw § #2952

(A) 12 days/fe  (B) 5 days/fR= (C) 10 days/fe=
(D) 6 days/fxT

TYPE
A&B can complete a piece of work in 10 and 12 days
respectively. A and B start work together and after 3
days A left the work then calculate in how many days

remaining work will be completed?

A i B ot e i #Aen 10 qar 12 R ¥ s dsa 2 |
A FTH FT 0E FGT g 7 3 3 78 A F10 Srede 9«1 Sran
&, T o e fohae =t 7 4@y g 2
(A) 8 % days//m  (B)10.5 days/fa=
(D)14 days/fZ=

(C) 12 days/fa=

A & B can complete a piece of work in 10 and 15 days
respectively. A and B start working together and after 2
days A left the work then calculate in how many days

work will be completed?

A Tar B fft e &7 wwer: 10 uv 15 foF § 97 #7 §,
AT I FH FT TF AT LE FI 2, 77 2 foF a1 A FH
FISHT AT STAT & AT 1A Ty 2=t & @7 g 2

(A) 10 days/fem (B) 12 days/fe@ (C) 14 days/fe=
(D) 16 days/fa=

6.

A&B can complete a piece of work in 10 and 12 days
respectively. A and B start working together and after 3
days A left the work then calculate in how many days

remaining work will be completed?

A T B Tt e i weer: 10 9T 12 i § 921 & 996 €,
AT I FH FT TF AT LE FJ 2, 797 3 " a1 A w7
FIEHT AT ST &, AT A 1 vy =27 & @ givm 2

(A) 5 g days//c (B)10.5 days/fRe  (C) 12 days/f&=
(D)14 days/fz=

A,B and C can complete a piece of work in 10, 12 and
15 days respectively. A and B start working together and

after 3 days they left the work then calculate in how

many days remaining work will be completed by C?

A, B 3T C et 18 i1 FHen: 10,12 Fa7 15 A § @1 ¢
TR &, TAE ST FIH HT TF 1 5 2 8, o7 3 By amg
T FH GIEHT 9o AT g | A1 AT FHr Fra &1 & @y g
N

(A) 6 % days/faT  (B)10.5 days/fa= (C) 12 days/fa=
(D)14 days/fz=

TYPE
A and B can complete a work in 10 days and 15 days
respectively. A and B started working together but after
some time A left the work and the whole work will
complete in 9 days. Then calculate after how much time

A will left the work?

Ifs A JIT B FHL: U F18 A7 10 & Fo1 15 e § @ #<
aFd g | A TaT B falt w18 A7 UF 91 9% F4q §, g 7=
qUT qIE A FH B Iq7 8 o [T FW 9 & & 79 v
ST & | T AT FH F A [T e grET ?
(A)2 days/fa= (B)4 days/fam

(D) 8 days/fa=

(C)6 days/fa=

TYPE
Three men A, B and C can complete a work in 10, 12
and 15 days respectively If A, B and C starts working
together but after 2 days A left the work and than after 2
day C also left the work. Then in how much time the

whole work will complete?
3 st A, B @ C ffy e &7 wwen: 10,12 7o 15 fRa &
T F qERS g | IR A ww 'y w1 g w2 R
T A FTH B1E 3qT & 9 399 o 2 ig s C s =
AT &, q1 T w1 A aw § @ g
(A) 6% days/T  (B) 5 % days/f

(D) 3 2 days/fx

(C) 4  days/f

. Three men A, B and C can complete a work in 10, 12

and 15 days respectively A, B and C starts work
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together but after 3 days A left the work and B left the
work 4 days before the complete of work. Then in how

much time the whole work will complete?

3 amaft A, B 7T C et & 7 wen: 10,12 e 15 few &
T F GHA ¢ | AT TF G HH F Fd g aqr A, 3 '
7T FTH I AT ¢ 9 B FTH GHTH 219 4 4 a7 95 #:19 e
AT &, T T 1 o a9 | g ?

(A) 2 days/fa (B)3 days/fe (C)4 days/fa=
(D)can not be solved/ge &t 3T ST e

. Three men A, B and C can complete a work in 10, 12
and 15 days respectively A, B and C starts working
together A left the work 2 days before the completion of
work and B left the work 3 days before the completion of

work. Then in how much time the whole work will

complete?

3 ameHT A, B @T C foreft 1 &y shwer: 10,12 ot 15 foa ®
T T TR g | AT TF G FH E T 8,A T T B
F2fRmugar F W g 3T &, AT B W @ g & 3 fam
TEA FIH IS AT g AT 1 e faei & 7@ g 2

(A) 6 % days/f  (B) 5 days/fx (C) 6 = days/fm

(D) 6 % days/fx

TYPE
. Aand B, B and C and C and A can complete a work in
12, 15 and 20days respectively in how time they

together complete the whole work?

ATaTB, B Tam C, C 7T A freft s v 12, 15 7 20 fRwr &
T HERS g T AT wE T e @ wre e qww '
FGT ?

(A) 10 days/fRm (B)12days/fe=
(D) 15 days/fa=

(C) 14 days/fem

. Aand B, B and C and C and A can complete a work in
12, 8 and 10days respectively in how many time they

alone can complete the whole work?

AT B, BiRCaamm Csim ARt #m #r 12, 8 710 ”’w
H QT T qHA 2 | q1 AT B o F A= 127 Fwr o
AT H FE

(A)240/7days/fa, 240/13days/f3, 240/17days/fa
(B)240/12 days/faw, 240/3 days/fam, 240/13 days/fam
(C)240/9 days/fa, 230/2 days/few, 234/13 days/iw
(D)

D)123 days/fXT, 134 days/f, 234 days/fR=

TYPE
. Ais 3 times efficient than B. Then in how much time they
together complete the whole work if A alone completes

the whole work in 25 days?

I A et I HTH A7 25 faei § Q1 FT "ehar § AT A #i
FAeHar B #it 3 AT € | 99 F T w1 fHerwe fhaw R #
T FTHRAE ?

(A)10 days/iR  (B)75/4 days/fR= (C)20 days/fa=
(D)25 days/fze

. Ais 2 times efficient than B, and B is half efficient than

C, if B and C and complete a piece of work in 12 days .
find in how much time A alone will complete the same

work?

A # Frderwar B Y &1 AT § T47 B At Frderar C A sweft
gak B C e i sm A 12 R A s asa 2 |
T A FTHAT IH FTH & Ty =T & 97 2 e

(A)12 days/fes (B)18 days/f= (C) 36 days/fam
(D) days/fz=

TYPE

. A and B can complete a work in 12 and 15 days. They

started the work alternatively for 1 day each & A started
the work first. In how much time the work will be

completed?

A TIT B U &9 &1 12 Fo1 15 fom § gew e & | =1 u-
U 3 Srew W A g AT A FH R LE F | AT a4
T 7 fra 3 & =ew g 2

(A)13; days/fZ  (B)103; days/f (C)113; days/f
(D) 23% days/f

. 38 men can complete a work by working 6 hrs per day in

12 days then calculate in how many days 51 men can
do a double of the work by working 8 hours a day. If two
men of 1st group doing same work as that of two men of

second group?

38 ey 6 = gfafed #m weF el w18 1 12 i § =i
T FT 2 | 51 AEH IFH TR FH HT 8 He AiAtad Fr

w0 T f3at & @1 w4, afy gl g0 F et Saar
Fq ¢ oA w9 § gAY g9 F et rer w1 wd g 2
(A)300/17days/fa (B)288/7days/faT (C)225/7days/fR
(D)226/7 days/fZ=

TYPE

. Two pipes A and B can fill the tank in 4 hours and 6

hours respectively. While pipe C can alone empty it in 8
hours. If all the pipes are open together. In how much
time the whole tank will fill?

T TT ATaTB fft S AT spmer 4 HE T 6 HE H AR AR

| T 7 C &ThelT 8 =S § TH @I ¥ F%haT ¢ | I v
AT T W HT @I [T ST A Sohy PRt 37§ ai?

(A)2 hours/= (B) 4 hours/=e
(C) 5 hours/=& (D) 3 2 hours/=




